H&Wo o F 9%

@ RN)Lb - Fv b Ak

ﬁ -
I I «gb ____________ e |
d d
S
mr>FxYy BA— kLR (mm) W7 IRRIVLENSAXER
DD ’\%0()57@]5 9D XA @S (S) NATNO = @miE (S) MR 5KTS Y 10K7 S5 > 0KT S
O e FRUd) - - . — (A) . . _ . . .
RV~ INERIV b [ SRRV R | 7RIV b | tksd 2D RIVMFAR| 18 | RV AR | 8 | RV AR #&E
wW1/8 6 M2 4 15 0.9 15 M10X 35 M12 X 40 M12 X 50
W3/16 8 M3 55 2.5 15 20 M10X 35 M12 X 45 M12 X 55
W1/4 10 M4 7 3 2 25 M10X 35 M16X50 M16 X 55 4
W5/16 14 M5 8 4 2.5 32 M12X40 4 4
W3/8 17 M6 10 5 3 40 M12 X 40 M16X 55 M16 X 60
W7/16 19 M8 12 13 6 4 50 M12 X 45
W1/2 21 M10 14 17 8 5 65 M12 X 45 M16 X 65
W5/8 26 M12 17 19 10 6 80 M16 X 50 M16 X 60 V20X 75 8
W3/4 32 M14 19 22 12 — 100 | M16X60 g
W7/8 35 M16 22 24 14 8 125 M16 X 60 8 M20X70 M22 % 85
W1" 41 M18 24 27 14 — 150 M16 X 60 M20% 75
W1-1/8 46 M20 27 30 17 10 200 M20X 75 12 M22X90 12
W1-1/4 50 M22 30 32 17 — 250 | M20X75
X X E—
W1-3/8 54 M24 32 36 19 12 300 | M20x75 | 12 | M22%80 M24>100
W1-1/2 58 M27 36 41 19 — 350 | M22x80 M22x85 | 16 | M30x120| 16
W1-5/8 63 M30 41 46 22 400 M22 X80 16 M24 <90 M30X 130
W1-3/4 67 M33 46 50 24 450 M22 X80
X X
W1-7/8 71 M36 50 55 27 500 M22 X80 20 M24>95 20 M30>140 20
W2" 77 M39 55 60 27
M42 65 32
M48 75 36




